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1. Write each of the following numbers in scientific notation.

(a) 27 600                  (f) 297 x 103
(b) 0.000 45               (g) 0.043 x 10-6
(c) 538 000                (h) 0.689 x 1024
(d)0.39 x 10-5            (i) 860.3 x 10-19
(e) 84 x 10-3              (j) 0.000 000 079 36

2. Express each of the following in scientific notation in the basic SI unit.

(a) 5.00 x 106 mm     (e) 55 MW

(b) 6.000 km             (f) 2.61 kPa

(c) 25 nm                  (g) 102 MHz

(d) 55.00 min            (h) 159 GHz

3. The wavelength of red light is 6.5 x 10-7 m. How many wave​lengths will fit along a line 1.0 cm long?

4. There are approximately 1.0 x 1011stars in our galaxy. If the average mass of a star and its planets is 2.0 x 1030 kg, what is the approximate mass of our galaxy?

5. A thin film of rolled gold is used in Rutherford’s scattering experiment. If the average thickness of the film is 1.0 x 10-6 m and the diameter of a gold atom is 2.5 x 10-10 m, approximately how many gold atoms make up the thickness of the gold foil? Assume that the gold atoms are lined up in a straight line.

6. Electric current flows through a conductor at a rate of 2.50 C/s. If a coulomb is composed of 6.24 x 1018 electrons, how many electrons will flow through the conductor in 10.0 min?

